7}29] Zol7} x, M2 o] o)zt 3 Q1 A Az o] Ee| 2] o]
+ 16 |t}

® 2x+3=16 @ 2x-3=16 @2(x+3):16

@ 2(x-3)=16 ® 2x-6=16

5402 Uehfid @ 2 (x+3) = 16 o[tk




SA —dx+a=2(bx-1) 7 x o B FFA] B W, ab O H=

Tatelat,

> E:

> A ab=4

—4dx+a=2(bx-1)
—4x+a=2bx—-2
5 Aolne AT $9) xo] A% 23, A4E otk




e e A ge ol A

< &4

G2
Tlo
sl
Tlo
[N

D 4x-3=x+7T=24x-x=T7+3

@ x=5x-2=>x-5x=-2
1
@8x—§:6ﬁz8x—4x:6—

1
@ 2x-01=10=2x=10+0.1

4 X 4 x
@ Z—g.x—i—G@—gx—g——6—7

1
@8 x+4x=6+ =

3




=

X % Qapgae e BE g A

oo

@ 3x-2=7 © 3x=2x-1
©® 3x-2=x+4 © x*=3x+2

® 242 -2 = 3x+ 222

©1A4 @274 @3A @A

® 5 A

9,0, ©®,®4 M e
© x? =3x+2: °ZEA4




(16x+4) + 4 — (15x 4+ 10) x § EANEE O, x
& Fotojet

(16x+4) +4 — (156x + 10) x

| D

2

1
= Z(l6x +4) 5(15x+ 10)

=4x+1-6x—-4
——2x%—13

x g AS: 2, 85 -3
(=2)+(-3)=-5




=

%84 %L A

oo
o
ru
sl
rlo

D

e

@ ac=bcolHa+1=b+1
oY o)m g =

© 7=5 M8 d=5

© a=bolH2a=a+b

® g:bol‘:ﬂQa:%

@ a-b=x-y°lHa-x=b-y

@®e.0 266 066 ®06e

® 66

@ =09 A9 A gk

© b5x = 4y o]t




7. (x+1):2=0Bx+1):4EUNEtexd dZat S, 2047 9
wH?

® 1 @ 5 @7 @ ® 13

B ~
2Bx+1)=4(x+1)

6x+2=4x+4

Qg =2

x=1

metA g =1 0]B2 2a+7=9




?

1
—

o

(x-3) :49]

7

2(x-18)

@ 41 @43 @ 45 ® 47

@® 39

= ol-gst

J

L

T

H]#14] ]

7(x - 3) & H}FLo]

8(x—8) =

14

8x—64="7x—-21
Sox=43




T HAA 2(x— 1) +3 = -2(3x - 9) + 7, fz’x—:a:

22 ), a o g2 Fotofeh

2x—3
3

_q]

)7}

> =
> ®MEt: o= 0
3

HPYAS BT 2 ZojA] Hulstw
2x+1=-6x+25, x=3
Hg o] syt gonma

2x—3 -

x-3= x3 o x =3 & HgstH

1
a—3:1°]E§a:§60

=W =

Ik




§(12x+6y) =2(4y-3) o &

w A% at b o] L2

=
54

1 1
O-% @3 1

B

Fol7l F4l0] o] 3 - Bk
24x + 12y = 24y - 18
24x =12y - 18

1 3

=971




